ADDING AND SUBTRACTING UP TO MILLION WITHOUT CARRYING (HN—aﬁ];élf 1)

TEST 1

Time: Score:

n 673403 — 130003 =

2 750267 + 243230 =

3 868077 — 27063 =

H 230045 4429740 =

5 588224 — 140004 =

6 285712 + 311005 =

N 456048 4 542230 =

9 683982 — 203322 =

9 475740 — 235700 =

10 241176 + 24221 =

1) 1496512 + 8103441 =

12) 3897747 — 2007305 =

13) 206432 + 422435 =

1207287 — 2006 =

15407651 + 560346 =

Mathematics: Mixed - Level 7 - Horizontal - Set 1
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975774 — 41714 =

943741 — 21310 =

363508 + 416150 =

870267 + 20632 =

835960 + 63026 =

424549 — 402521 =

819787 — 119354 =

9067030 + 700204 =

4497607 — 307004 =

424195 + 513102 =

707296 — 304152 =

525734 + 74225 =

393215 + 506162 =

216357 + 11602 =

431014 + 300474 =
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